
Time: 10 Minutes Paper Science 4th (T-5) Total Marks: 10

5th Month, 4th Week, 5th  Day Unit No 7: Weekly Test + Revision ch # 7

Q.No.1 Encircle the correct answer from the following choices. (10×1=10)


(i) From where water falls in ocean? 
(a) Glaciers  



 (b) River 

(c) Canals  (d) None of these 
(ii) Imprints or remains of animals are called: 
(a) Minerals  (b) Fossils 
(c) Rocks  (d) None of these 

(iii) The earth's surface consist of: 
(a) forests  (b) land 
(c) water  (d) both b & c  b&c

(vi) Glass is made from: 
(a) soil  (b) sand  (c) salt  (d) rubber 

(v) About what percentage of the earth's surface is land?


(a) 1 percent  1 (b) 20 percent  20 (c) 29 percent  29 (d) 30 percent  30

(vi) Thd solid non-living chemicals present in the earth are:


(a) soil  (b) minerals  (c) stones  (d) fossils 

Q.2 Answer the following questions: (2×2=4)  
(i) Why forest are called renewable resources? 

(ii)   Describe any two advantages and disadvantages of deforestation.


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